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04 JIAH22 ISR+ 60,865 51,854 9,011
O=E# 0I0IX Hel BBFH| A Ayl
36,8002 %23 #1102 8,096 0 8,096
O4URE Jl2Le3 8,096,002 *11.3% 915 0 915
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N = 0l & AF & F Al A

FAMES

Hu: HES SHUTLY(YUDDHY/ABHE)
et ZOIBtE BEGCO (9l &2
SN FHH S (3H) - HREAY - BES Ofl Ak 04 JIE o Hms2

218,223 212,123 6,100

HMNES SEHE2S (LI /LT) 102,429 99,429 3,000
Olote SEEL 50,154 47,154 3,000
g dE¥=2Y 11,374 8,374 3,000
201 get=24Ed| 9,444 6,444 3,000

01 A2 2telH] 9,444 6,444 3,000

O1. L=t 3,000 0 3,000
-ANREEE 3,000,000& 3,000 0 3,000
HH2IZHI(MES)(JIEH/IIE) 65,794 62,694 3,100
Jl2ZHl(Mas) 65,794 62,694 3,100
HR=A0H| 24,440 21,840 2,600
202 04l 24,440 21,840 2,600

02 2 X0l 24,440 21,840 2,600

O HHBI(B1Y) ZE 24,440,000 24,440 21,840 2,600

et 2 =SS FHSHI 1,200 700 500
405 AHaHF S 1,200 700 500

01 A&t =S S F SHI 1,200 700 500

Ozt 27 2¢ 500,000& *1CH 500 0 500
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= AH O
N = 0 &8 AF S & Al A
2A: 82
A 555 SEHHUIS2Z (LS SHEY/YBEY)

Rl F0IgE #HEER (oA
2N -3 - c2(3H) - NEME - HES 0] AFCH J| & @ Hns
S=2= 429,605 412,685 16,920
SE2E SEHYRY (YUY /ABEE) 269,431 252,511 16,920

Folgg #HECR 200,261 183,341 16,920
g HERH 16,761 13,761 3,000
201 LEtRAHH| 10,620 7,620 3,000

01 At 22| 10,200 7,200 3,000
O1.¢8t=2H]| 3,000 0 3,000
-APREHE E 3,000,000 3,000 0 3,000
23 2849 52,600 38,680 13,920
101 Q124 H| 29,000 20,480 8,520
04 JIZtH2Z2HEE S 29,000 20,480 8,520
OX2T A3 2teleld] 23X 26,054,400 26,055 18,400 7,655
O4UEE ez AA 2,945,0002 2,945 2,080 865
201 LBt AHH| 20,400 15,800 4,600
01 At 22l d| 3,200 2,400 800
O1.¢et=2H]| 3,200 2,400 800
~A2E A2 dE=2H| a3 3,200,000 3,200 2,400 800
02 2229H| 17,200 13,400 3,800
O1.2Z222%AA 17,200 13,400 3,800
-HIIe3 ZA 3,200,000 3,200 2,400 800
= I P RN == 43 3,200,000 3,200 2,400 800
-N3e32 & 800,000 800 600 200
A== 23 10,000,000 10,000 8,000 2,000
301 LEtB A= 3,200 2,400 800
10 HAIAHIEAS 3,200 2,400 800
OX2T NI THASALXE 2HA!
A& 3,200,000 3,200 2,400 800
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N = 0l & AF & F Al A

A OIS
HE: (01 SHUYLE(YNDTHY/LYHT)

Crol: FOISlE HATO (el @2
SA B HRA(SH) - MRAY - B 0l & o o1& o HREZ
Chols 310,555 307, 140 3,415
OIS S8MNLY(ANBDHE/LUHT) 155,954 152,954 3,000

=0sgy #EER 114,597 111,597 3,000
SE HE2S 33,837 30,837 3,000

401 A& HIZ 2CHYI 21,000 18,000 3,000

01 Al£Hl 21,000 18,000 3,000
OAtS & Z 3 3,000, 0002 14 3,000 0 3,000

B H 2 A 28I (HOIS) (DIEHIIE) 85,601 85,186 415
Jl2Zdl(tols) 85,601 85,186 415
FN2SHI 40,201 39,786 415
201 ZEt2FH| 40,201 39,786 415

01 AtR2tel 15,355 14,940 415
O1.det=ZH| 9,825 9,600 225
-REA2YE L2 2% 9,825,000 9,825 9,600 225

O5.=2 &l 2,470 2,280 190
-EA2E S| 2 & 2,470,000& 2,470 2,280 190
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